                 HARBIY TEST-2018
          MATEMATIKA YECHIMLARI
                             1-QISM
1.Misol:  
b1=4   b5=324  q4=b5/b1=81     q=3             
   q=4=12                                      JAVOB: 12,36,108  
                                       
 
2.Misol:
(1/2+3/2+5/2+……+15/2)+(2/3+4/3+…..16/3)=+=56
JAVOB:56  
4.MISOL:
Sin(1o)+ Sin(2o)+ Sin(3o)+………+ Sin(358o)+ Sin(359o)=
= Sin(1o)+ Sin(359o)+ Sin(2o)+ Sin(358o)…..=
=2Sin(360o/2) Cos(-358o/2)+ 2Sin(360o/2) Cos(-358o/2)….=0
5.MISOL:
a1=lg(a-b)      a2=lg                                                                                       lg2lg(a+b)+lg(a-b)
Lg7(ab+b2)=lg(a2-b2)   4ab+4b2=a2-b2     b4(a+b)=(a-b)(a+b)  5b=a
Logb(a/5)=2logb(5b/5)=2                     JAVOB: 2
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